Jdn, do [GeV]}

sum
T

{(1/Nevents) d p

Ratio to CDF

2.2

N

=
o

=
o

=
IN

=
N

=

0.8

0.6

0.4

0.2

0.5

900 GeV ppbar

pnder]ying Event

Rivet 3.1.10, = 3.2M events

il L L L [ T
- Average 3 (p ) vs p':ad (b, >0.5GeV, h| <0.8) -
N m CDF _|
[ —&— Pythia 8.308 default ]
IS ¢ Sherpa 2.2.9 default _
I TP RO RO AU ANNPURNY AU NS HEPUN AU SRPUY NEPUT RO NP AN TR NP R R B
: T T T T | T T T T | T T T T | T T T T |:
B [ _
-y |
- o ‘ ¢ ............. . |
’ ’ res ’ .......... ‘
— Q...Q"‘ P N
3 Io.l.’,l_ o o ... o
0 5 10 15 20

(P [GeV]}

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


